M. Grisey, his Galliard

Scott Mc Laughlin
J: 60  Sempre Non-Vibrato S-p- (oscillate - 3/bar®)
nat.
T T T
_ A e — e = >
Violin 1 (e~ = = £ £
o <wp — —»p
o e — — \ : ; S
Violin 2 |réey4 R B F——+
Q) LU S e S 1
< pp = < pp
*h q [® ] \() \J
ViOliIl 3 17N 7. = = © © = & F O
ANIVAEES 3 :
D < ppp — I pp
o) 5. p- nat. |73 R,
* q 1 1 1 1 1 1 1 1
Violin 4 fr~—7 = = = = g S
ANIV S 3 2D = 4 S < OO g_o_ 2 %
e =
< ppp
A s. p.
P’ A F /1
3 3 £\ X - - |
Violin 5 (% —
(3] <4 O
\/
<P PP
Violin 6 A i e ——
10ln - | P~ - - |
:%9—4 ——i o o—o oo
s o ¥ T
ey T e f Ty <l O p<lf >
—— f f
s. p. Strident
Viola 1 = ‘,E
o >f »
i
Viola 2 — — i 7 s 4 7 14 ©
) K [ 4 [
—r— T f
PP -
} t
Cello 1 — - o = S p m— i
ﬁa [©]
— ]
Cello 2 = - i -
< © ©
\—// V/
<P P
§ — 3 [8:1)
Bass i)' 4,, = — f i o m— I -
x 1 1 1 1 1 1 PN Al
) i i
R v
ofs f T———xp - f —

* Oscillate the weightings of the pitches in the chord, don't lose dbl-stop.
3/bar =3 osc per bar: {a-b-a} not {a-b-a-b-a-b}.
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Vln 1-4: Gradually shift chord weighting
from lower to higher pitches
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